FR 25-RGO

AT HiNERYIARR R R S TR IE Ras

C€

-t

o ARATHEAR I WA VA A1 RE AR S s U

D o : s
oon o EIMERLEIE: feasE FURHER RN
c@w « DELTATJRE: BhaE A KA PR EA 2 KA
175 35 22
EMB % /"3:%‘ w2 ﬁ
o TR R R P T AL D' IR A A e R A A B ] PR
HFSH eESREM
ARG 0.5...2m! LED#g/RAT, e L ThEE R
SR LED %, 632nm LEDfR/RIT, #th PIES tE Y
P & R T i AR 2K
it P 1 B AL
i A2: d 1Lt L
n B E TEE TS i R R A N\ A R R
3 IE AT 1]
S N A 1 28 SR e
BRINTEE e K AR [ o T
BSSH WS
TAEHEE, +U, 10...30 V DC’ HME RS 34 %20 x 12 mm’
TEA, <30mA B 55 4% IP 69K & IP 67°
W R, e <100 mA HhEI R ABS
47 FL B HLBR I e R,/ FEHER R (Q) i AR R PMMA
B 4 55 4% 2 e GARIES)
Je B HER <300 ms T AR B -20 ... +60°C*
JFRERH, Q PNP/NPN (¥ L% A5 %) REN BTN 20 ... +80°C
i th Th e N.O. CHFF) /N.C. G D EE D 10g
TF IS (ti/tp 1:1) <1000 Hz Hi (EeEEED 10g
i s i) 500 ps R (L8 40g
AR, IN +U, = i UR A EN 60947-5-2
- U, = fi Bt e
I = IE# BT

' SEMRL RS/L ROGIR 2 7EU TG N e YR 10% B~ 50 Hz / 100 Hz S ZIC # B4/ 2 7] 1P 67 / IP 69K {9451 *UL:-20 ... +50 °C  * JiEcolab

T{EEE FRERHH EERZRTY RS RS
0..2m PNP B, M8x1, 4-%F FR 25-RGO-PS-M4 606-11020
0..2m NPN B, M8 x 1, 4-%F FR 25-RGO-NS-M4 606-11021
0..2m PNP EJEEO, M8x 1, 4-5F FR 25-RGO-PS-M4M 606-11016
0..2m NPN L@, M8 x 1, 4-%F FR 25-RGO-NS-M4M 606-11017
0..2m PNP &Ky, 2m, 4% FR 25-RGO-PS-K4 606-11018
0..2m NPN K45, 2m, 4-2; FR 25-RGO-NS-K4 606-11019
0..2m PNP ERLES: 150 mm (HLEMS, 4-5FHI#ED FR 25-RGO-PS-KM4 606-11030
0..2m NPN ERLL: 150 mm (LEMS, 4-5F#E0D FR 25-RGO-NS-KM4 606-11031
0..2m PNP LWL 150 mm (EEMS, 4-8HEE LD FR 25-RGO-PS-KM4-X04 606-11032

274 www.sensopart.com



(I SENSOPART

EOEERBERIE HANEREIRTE

) 20 Teachi 20
12 Teach-in 26 12 each-in 26
LED 2 LED 1 LED 2 LED1
g AW
[ —] AT TN — AT N
"z "%
Optical | | Optical
3 <« axis 3 < axis
8 8
: ) :
|
u"’l“’l 1 :lml T—1
© : b «@
© = % ] E
E == 3.2 3.2 =
s F s
@6.5
153-00964 e 153-00963
R 4-f
—1*U; 1 BN NPN
—-B .
IN 2 WH
—~—————
Q 48BK PNP
e
-U, 3BU
- —_—e
_ 154-00508
FERRTE
40
30 A
'g ‘horizontal=vertical‘ /
5 20 /|
N
(7] /
10 yd
._/
% 0z 04 06 08 10
Distance [m] 155-01531

[t TFeE
(B ERRIHREERS)

R5/L (904-51543) 0.5...2m
RF-100 KL (904-51644) 0..2m

R2-2LB1 (904-51595) 0...500 mm
R3-2LK1 (904-51596) 0...500 mm

B4

SOtk A-18
205 A-34
EE S A-4

www.sensopart.com 275



